Seat No. :
AC-120
April-2019
B.A., Sem.-11

EC-I (111) : Philosophy
(Logic - 2)

Time : 2:30 Hours]

1. (A) [Qeud 2 dlsd 9RRAAL Gl AL

(B)

2. (A)

(B)

AC-120

YL

AR USRAL [H3uLls (el AHomAL

SLESURL ARAL AL AL

(1
2
3)
4
)
(6)

“© [AulAML $3 UE AU S 6 2
‘o [AulAML 5 UE AN S 6 2
(e 2leet 92

s A2 9 ?

‘@l USRAL [l BeLeziL AL
‘Al USIRAL [l BELeREL AL

(3wl (e @el uHodl.

(3Ll AULetiAAl WHIRLAL (L 24 et 2dl £l Aol

24l

SLETURL ARAL Lo AL

(1
2
3)
4
)
(6)

gl [ttt U uE 5% SR 8 2
gleidt [Aeur oflog ue 53 S 6 2
(3l dlAeuAHi szl (Dl ¢ e 2
(3wl lAeuAHi seel wel Sl & 2
(3L AL Sa [Quid A 2L ?
UL (el SUL SULUEL QUL 8 2

1

[Max. Marks : 70

14

14

P.T.O.



3. (A)
(B)

4. (A)
(B)

AC-120

e o

e

S VR
NV

AL -H

—H-M A s gIRLAWRAL
—_y—

AL
22l
AL-H
M A 245 gIRL AL

AL

SLESURL ALRLAL oLl 2AML :

(D
2
3)
4
)

A AL gt s2cl [dewaL & 2

At AL 1 [ARIIML sULUEL A 6 2
At AL 2 [ARIWIML SULUEL A 6 2
At A5 (AL 3 [ARIIML SULUEL A 6 2
At AL 4 [ARWIML SULUEL AL 6 2

Fst AUl Ui Aol

Yl

(ettgHirt-l visAl A UMl

SLETURL ARLAL v Lol AML ;

(D
)
3)
4
)

[seuHid vea g ?

(et v Rl seell € 2
AU Al 2Hed 2 ?

(st Avles A= 2Hea 2 ?
(a uldsiz S USR € 2

14

14



Time : 2:30 Hours]

Seat No. :

AC-120

April-2019
B.A., Sem.-11

EC-I (111) : Philosophy
(Logic - 2)

1.  (A) Explain difference between proposition and sentence.

(B)

2. (A)

(B)
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OR

Explain four types of categorical proposition.

Give answer any four :

(1
)
3)
4
)
(6)

‘I’ which term is distributed in the proposition ?
‘O’ which term is distributed in the proposition ?
What is a Proposition ?

What is a sentence ?

Give an example of ‘A’ type proposition.

Give an example of ‘E’ type proposition.

Explain definition of categorical syllogism.

OR
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Explain rules of valid categorical syllogism and fallacies by breaking that rules.

Give answer any four :

(D
2
3)
4
)
(6)

Which is the first term of conclusion ?

Which is the second term of conclusion ?

There are many proposition in the categorical syllogism ?

There are many term in the categorical syllogism ?

What is name of the last proposition in the categorical syllogism ?

What are the terms in the major premise ?
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[-S-M
[P — M7 checked by the Venn diagram.
[I-P-S

Give answer any three : 3

(D
2
3)
4
)

How many parts of Venn diagram ?

Which position are in the 1 section of the Venn diagram ?
Which position are in the 2 section of the Venn diagram ?
Which position are in the 3 section of the Venn diagram ?

Which position are in the 4 section of the Venn diagram ?

Explain the mixed Hypothetical syllogism. 14

OR

Explain the methods of refutation of dilemma.

Give answer any three : 3
(1) What is dilemma ?

(2) How many methods of refutation of dilemma ?

(3) What is Hypothetical syllogism ?

(4) What is mixed Hypothetical syllogism ?

(5) What s the type of taking a dilemma by the horns ?



